Zápis čísla ve tvaru a. 10n
Př.1.  Zapiš jako celé číslo.
Vzor:     3,65 . 103 = 3,65 . 1000 = 3 650
9,58 . 105 =				- 2,1 . 101 =
7,118 . 103 =				3,31 . 104 = 
- 1,4 . 102 =				4,818 . 106 =
9 . 100 =					- 8,5 . 105 =
- 2,5 . 101 =				9,4 . 102 =
7,37 . 104 =				2 . 103 =
2,8 . 101 =					-1 . 100 =
- 4 . 100 =					2,473 . 103 =
9,505 . 105 =				5,61 . 105 =
4,8 . 106 =					- 8,9 . 107 =

Př.2. Napiš číslo ve tvaru a. 10n , kde 1 ≤ a < 10 , n je nezáporné celé číslo.
Vzor:    439,8 = 4,398 . 100 =    4,398 . 102   
                                a
325 = 		 			- 6 900 000 =
28 =						6,3 =
-3 410 = 					12 358 000 =
80 000 = 					- 9 000 = 
21 000 =					987 444 = 
1,89 =					- 81 200 =
-532 100 =					5 600 000 =
1 850 = 					- 53 =
17 = 						4 =
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